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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The questions paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculators is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.

| e

1.
2.

[t g e € |

TYYE-TAH 34 U S AR @ § 3, &, §a € H fawifed 31 @ueg - 21§ 10 7 ¥ iR v+
Y 1 Ak FHE, @US - TH 8 T ¢ 3 TIF Y3 2 ki & &, WUS - §H 10 Y37 & 3R yAF
9 3 3] 1§, WUS - TH 6 9 ¥ 3R I 99 4 3T 1 2|

T G 1 9 10 Tgfosmedd 39 ¥ 1 feu e uR famed § @ Uk wet faskey o |

30 2 off gafal fasmey 761 8, wifer a7idafier foehed 1 999 2 il §, 3 U9 3 Rl § 3R 2 T
4 3 ¥ feu U €1 o9 fou U foshedl § 9 U famey &1 =waT |

FAFAR HT FAN afsld B

TG YY-TF &1 TeA & farq 15 fiee o1 993 fen men 1 39 srafy & SR o et I9-93 &t a8
3R 9 IW-JRaeh W e W Tl fea |




SECTION - A
Question numbers 1 to 10 carry 1 mark each.
In figure - 1, which of the following statement is true ?

A

19 cm
Figure -1

£LB=ZC
Z B is the greatest angle in triangle
Z B is the smallest angle in triangle

Z A is the smallest angle in triangle

In figure - 2, value of (Z x+Z y) is

A
y

100°

>

C
Figure -2

(A) 80° (B) 30° (C) 120° (D) 60°

Which of the following is a quadratic polynomial in one variable ?

(A) V2545 (B) 2x%+2x~2 (C) 2 (D) 222412

The angles of a triangle are in the ratio 2 : 3 : 4. The measure of angles are :
(A) 20° 60° 80° (B) 80° 40°, 60° (C) 40°, 60°, 80° (D) 60° 40°, 80°

If P (x)=7—3x+2x2 then value of P (—2) is :
A) 12 B) 31 © 21 D) 22
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In figure - 3 lines AB and CD intersect at O. If ZLAOD: /DOB =4 :5 then /COB is

(A) 80° (B) 100° (C) 90° (D) 70°

In figure - 4, the value of x is

(A) 30° (B) 10°

40°
2x 5x

Figure - 4

In a AABC if ZA = 53° and ZC = 44° then the value of /B is

(A) 73° (B) 83° (C) 93°

When 15./15 is divided by 3./3 the quotient is

(A) 53 B 3.5 © 545

Which of the following number is irrational ?
(A) J16—4

(©) 5+3
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SECTION -B

Question numbers 11 to 18 carry 2 marks each.

Represent /5 on the number line.

-3 -
81) 4 25 ! )
Simplify : | 74 X 9 :

In figure - 5, if AB||CD then find Z/PQR.
A P B
125°

&
<

Q
35°

R D
Figure - 5

14. Infigure - 6, BP L AC, /PBC=25° and /DAC=30°. Find the value of x.
A
N

DY

15. Factorize : 3x2—x—4

16. In figure - 7, ABDC is a square. Find the co-ordinates of points A and D.
Y

A

B (2 3)

A\ 4

Yl
Figure -7
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17. In figure - 8, if PQ|RS, /PAB = 60° and /ACS = 117° then find (x —y).

A

>

Q

117°
CS

Figure - 8

OR
In figure - 9, if AB||DE then find the measure of /BCD.

D E

C
Figure -9

18. In figure - 10, if PS=RQ then prove that PR=5Q.

/Q
RS

P
Figure - 10

SECTION-C

Question numbers 19 to 28 carry 3 marks each.
19. Simplify the following :

2 1 3
B+ B Brn

OR

Find the value of a and b if Bl =a—b./3.
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If (5)*~3% (3)2*~8=225 then find the value of x.

OR

1
If x=3-2/7 then find the value of (x>— 2 )-

Prove that
1+ x

P
Express 2025 in the form of E where p and q are integers and q=0.

If a2+ b%2+c2=90 and a+b+c=20 then find the value of ab+bc+ca.

OR

If x= KN is a zero of the polynomial p(x)=27x3—ax?—x+3 then find the value of a.

Find the area of a triangle with perimeter 22 cm, one side 9cm and difference of other two
sides is 7 cm.

In figure - 11, if AB||CD, /FAE = 90° and ZAFE = 40°, then find /ECD.

Figure - 11
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In figure - 12, BO and CO are bisectors of /DBCand ~/ECB respectively. If
/BAC =50° and ZABC = 60° then find the measure of /BOC.

Figure - 12

In figure - 13, PQ||RS and T is any point as shown in figure, then show that
ZPQT + £QTS + £ RST = 360°.

P

<<—i
<

S
Figure - 13

In figure - 14, AABC is an equilateral triangle with co-ordinate of B and C as B (1, 0) and
C (5, 0). Find the co-ordinate of vertex A.

Yy

B C
1 2 3 4 5

> X

Figure - 14
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SECTION-D
Question numbers 29 to 34 carry 4 marks each.

Factorise : x3+13x2 +32x + 20.

If x and y be two positive real numbers such that 8x3+27y3=730 and 2x2y + 3xy2=15 then
evaluate 2x +3y.

OR

Factorize : 2./ a3+8b3—27c3+18 J2 abc.

Without actually calculating the cubes evaluate the expression :

(49)° - (22)° - (27)°

In figure - 15, ABCD is a quadrilateral in which diagonals AC and BD intersect at O, then
show that 2(AC+BD)>AB+BC+ CD + DA.

D C

Figure - 15

In figure - 16, in APQR, right angled at P, PS is perpendicular to QR. Prove that
ZQPS = ZPRQ.

S
Figure - 16
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34. In figure - 17, AB=AD, AC=AE and /BAD = ZCAE. Prove that BC=DE.

A } E

D
Figure - 17

OR
AABC is an isoceles triangle in which AB=AC. Side BA is produced to D such that AD = AB.
Show that /BCD is a right angle.

940121 - C2




Q|Ue-3
U9 WE&AT 1 § 10 9 Yok W9 1 3k T &
Tpfa 1 #, frfafad § @ &9 o1 FuF 9 §2

A

19 cm

Tpfa-1

(A) 4B=ZC (B) £B, = *1 W@ Tl HITT 7|
(C) 4B H TR B RTZI (D) LA, IS F1 a8 BT HI07 7

AFA2H, (Lx+Ly) FAAE :

A

X
B C

STHfA-2

(A) 80° (B) 30° (C) 120°

3
>

fretfefed § M 91 Tge T =R H fged sgue € 2

(A) \2x°+5 (B) 2x2+2x72 ©) 2x2 + 12

Teh TSt & RI0N BT AT 2:3: 4 T 1 IV 1 W T
(A) 20° 60° 80°  (B) 80° 40° 60°  (C) 40° 60°, 80° 60°, 40°, 80°

IRP () =7-3x+22 A AP (—2) H 9H & :
(A) 12 (B) 31 © 21
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i 3 #, X@ AB a2 CD foig O W ufa=ae &3t 81 A L AOD: ~,DOB =4:5% @ /COB
F UG :
(A) 80° ° ° (D) 70°

AHT 4H, x FI AT :
(A) 30° (B) 10° (©)

40°
2x A5 x

&
< >

AT fd-4

TH AABCH, afc ZA= 5370 £/C= 44° @ /B HIAA T :
(A) 73° (B) 83° (C) 93°

15 15 1 33 ¥ 90 34 W 9HA ¢ :
(A) 53 (B) 3.5 (©) 5.5

frefafad o 9 =59 9 9@ srafEg §72
(A)  J16—4 ® (3-+3) (3+3)

© 5+3 (D) —25
T us-o

Y9 G 11 W 18 Ak Tedeh W9 & 2 3k & |

J5 ! HEA W W sl st |

R GRECN
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13. 3T%fd 5, IS AB||CD & d PQR 1 HM 1A ST |
A P B

<& 3
< >

125°

Q
35°

" C R D
pfa-5
14. A6 H BPLAC, ,PBC=25° A9 /DAC=30°% | x T HH J1d HifT |

A
D

B

25° X
B D

ST fd-6

15. 3x2—x—4 % TOAEUE HIT |

16. THfa 7, ABDC & o §1 foig A qen D & fdwnss 3 ifsw |
Y

A

Y.

Y|
STEfa-7
17. aTEfa 8 H, A< PQ|[RS, LPAB = 60° T LACS = 117° B @l (x —y) T AN I T |
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3Tepfa 9 H, 9fc AB||DE & @ «BCD ! A9 F1d hiferT |

E

SThfa-9

3fd 10 ®, afg PS=RQ 7 @ fag &ifeT PR=5Q

/Q
RS

P
FTRTd-10

w|Ue-g
Y9 W& 19 W 28 Toh Uk U9 o 3 31k ¢
19. A HIT :

2 1 3
5+B Br B2

YT

Wf?%q—bﬁ B Al a qAT b T M I HiToIT |

20. Afg (5)* 3 x (3)2~8=2257 T x H HH @ KT |
arere

qCx=3-2./2 '@T‘ﬁxz—xiz 1 W A T |

1

maﬂﬁl"{: ab+

1+ x°
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p . . ,
2.025 aﬁa%mﬁwaﬁﬁquamq@{uﬁzﬁ%amqio.

Ife a2+ b2+c2=90 A a+b+c=20 B T ab +bc +ca T HAF I HIfT |
3AYAT

?Jﬁ{x=_?1 UG p (x)=27x3—ax?—x +3 % YIS B dl a 1 HH F0d FHISC

e A 1 afmTy 22 I, Tk T 9 FHt e T < Sl 1 SR 7 A ¥ | S 1 Swa 9
HITSTT |

aTepfd 11 #, 9 AB||CD, /FAE = 90° @2 ZAFE = 40° @ @ /ECD %! A9 F1d SIS |

C
SHRTd-11

% fa 12 &, BO 991 CO %HI: /DBCH LECB & WAGWS® €1 afe ,BAC =500
ZABC = 60° B dl ,BOC ! HTY Hd HifST |
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argfa 13 ®, afg PQ|RS a1 T s fa A usfeia ws fag € @1 fag =ifvu f=
/PQT + /QTS + £ RST = 360°

P

&
<

STHfa-13

3Thfd 14 H, AABC U& wHarg st & fad foig B (1, 0) aen foig € (5, 0) ®1 ¥ A o1 Fdenias 5
HITST |

Thfd-14

Eus-g
U9 WEAT 29 | 34 dek Uk U9 o 4 3k &
UGS AA T 23 +13x2 +32x +20.

FfE x qM y T T TTeHsh ardfas G g1 59 forw 813 + 2712 =730 a1 222y +3x2=15 &
@ 2x + 3y T WA J1d HIfSC

YT
2 /2 a®+8b>—27c3+18 /7 abc % UFES HIFNT |

el | oAl w1 UieRed foRd T (49)% — (22)3 - (27)3 =1 |/ 9@ HIfST |
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THfd 15 H, ABCD T& 9qys & f5ad fasmvt AC aen BD T& gl &1 forg O W yfd=sg it &,
fag =ifs f

2 (AC+BD) > AB+BC+CD +DA.

D C

A

THfI-15

MHTd 16 H, APQR ¥ I P TR ST 10 FHFIV E | PS o QR R &l ¢ | fag ST /QPS = /PRQ.

P

S
HTRId-16
3MFfd 17 °, AB=AD, AC=AE a9 /BAD = ~CAE %! fag ®ifslt BC=DE.

A } E

C

D
SATRIA-17

HAYAT

AABC T gufgarg faqs ¢ i AB=AC 1 3fc s BA 1 fig D 9 39 YR agr <l © fo
AD=AB 7 1 fag &IVt fF ,BCD 9 71

-00o0-
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